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ECONOMICS (General)
Paper Code : DC-4/GE-4

(Development Economics)

Full Marks : 32 Time : Two Hours

The figures in the margin indicate full marks.
Candidates are required to give their answers

in their own words as far as practicable.
Group - A
Answer any four of the following questions. 2x4=8
1. What do you mean by birth rate and death rate?
2. Define the concept of human capital.
3. Explain adverse sex ratio.
4. How is land acquisition beneficial to the economy?
5. Mention two benefits of globalization in an economy.
6. What do you mean by labour productivity?
Group - B
Answer any four of the following questions. 4x4=16
7. How is income level connected with mortality and fertility choice by women?
8. Write a short note on rural-urban migration.
9. What are the informational problems in the rural credit market?

10. Discuss how full ownership rights of land affect the productivity of cultivation.
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11. What are the sources of rural credit?

12. Analyse the position of India in the world economy in the context of trade and growth.

13. Is liberalization beneficial for an economy? Give reasons.
14. How does nutrition affect labour productivity?

Group - C

Answer any one of the following questions.

&x1=8

15. What do you mean by land reform? What are the principal reasons of land reforms

adopted in India?

16. Discuss the Lewis model in case of surplus labour.
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